BID TABULATION FOR:

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS

OCTOBER 29, 2025 LJA ENGINEERING, INC. S.BOOTH

OCTOBER 29, 2025 NTD720-0083

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

BIDDER NAME	BASE BID	PROPOSED DURATION (DAYS)	CONTRACTOR'S SCHEDULE	
1) BLUE STAR UTILITIES, LLC	\$6,250,000.00	165 \ 20	NOT PROVIDED	
2) ACADIA SERVICES LLC	\$6,496,576.00	180 \ 40	NOT PROVIDED	
3) PCI CONSTRUCTION	\$7,140,226.50	200 \ 40	NOT PROVIDED	4
4) VENUS CONSTRUCTION COMPANY	\$7,278,150.00	210 \ 40	FEBRUARY 9, 2026	

Michelle lilotte

I, Michelle Tilotta, P.E., hereby certify these bid tabulations to be true and correct.

MICHELLE TILOTTA

125241

SOLONAL ENGINEERS

MUMM

10.29.2025

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

NTD720-0083

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.
S.BOOTH
OCTOBER 29, 2025

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

		1) BLUE STAR	R UTILITIES, LLC	2) ACADIA S	SERVICES LLC	3) PCI CONST	TRUCTION	4) VENUS CONSTRU	ICTION COMPANY
NO. ITEM DESCRIPTION UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION A - PHASE 2 - WATER DISTRIBUTION SYSTEM:								· · · · · · · · · · · · · · · · · · ·	
 8" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES, FITTINGS, PLUGS, BEDDING, ETC.) 	18520	\$48.00	\$888,960.00	\$44.00	\$814,880.00	\$48.20	\$892,664.00	\$45.91	\$850,253.20
 8" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS, EA ETC.) 	67	\$2,347.00	\$157,249.00	\$2,788.00	\$186,796.00	\$2,393.00	\$160,331.00	\$2,204.00	\$147,668.00
3. 1" SINGLE WATER SERVICE (SHORT SIDE) EA	184	\$830.00	\$152,720.00	\$1,082.00	\$199,088.00	\$900.00	\$165,600.00	\$695.45	\$127,962.80
4. 1" SINGLE WATER SERVICE (LONG SIDE) EA	169	\$1,133.00	\$191,477.00	\$1,107.00	\$187,083.00	\$1,380.00	\$233,220.00	\$917.24	\$155,013.56
5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) EA	31	\$6,950.00	\$215,450.00	\$7,824.00	\$242,544.00	\$8,108.00	\$251,348.00	\$6,846.32	\$212,235.92
6. 1" IRRIGATION WATER SERVICE EA	1	\$1,187.00	\$1,187.00	\$1,221.00	\$1,221.00	\$2,165.00	\$2,165.00	\$942.42	\$942.42
7. 2" IRRIGATION WATER SERVICE EA	9	\$2,185.00	\$19,665.00	\$2,338.00	\$21,042.00	\$3,132.00	\$28,188.00	\$2,062.28	\$18,560.52
8. CONNECT TO EXISTING 8" WATERLINE EA	3	\$1,216.00	\$3,648.00	\$8,057.00	\$24,171.00	\$1,334.00	\$4,002.00	\$851.29	\$2,553.87
9. REMOVE FLUSHING VALVE AND CONNECT TO EXISTING 10" WATERLINE EA	1	\$2,637.00	\$2,637.00	\$5,905.00	\$5,905.00	\$4,586.00	\$4,586.00	\$2,434.00	\$2,434.00
10. STEEL ENCASEMENT PIPE FOR 8" WATERLINE LF	140	\$144.00	\$20,160.00	\$185.00	\$25,900.00	\$142.40	\$19,936.00	\$192.37	\$26,931.80
11. 4" PVC IRRIGATION SLEEVES LF	250	\$23.00	\$5,750.00	\$15.00	\$3,750.00	\$19.60	\$4,900.00	\$15.61	\$3,902.50
12. 6" PVC IRRIGATION SLEEVES LF	250	\$29.00	\$7,250.00	\$18.00	\$4,500.00	\$22.10	\$5,525.00	\$20.16	\$5,040.00
13. 4" FLOW REGULATOR VALVE, VAULT, AND ASSEMBLY PER DETAIL LS	1	\$60,738.00	\$60,738.00	\$45,343.00	\$45,343.00	\$64,490.00	\$64,490.00	\$58,049.59	\$58,049.59
14. RELOCATE EXISTING 8" METÉR, METÉR VALVE, RPZ, 3 GATE VALVES AND LS RPZ CABINET TO NEW LOCATION	1	\$16,602.00	\$16,602.00	\$11,933.00	\$11,933.00	\$32,315.00	\$32,315.00	\$10,353.37	\$10,353.37
15. RELOCATE EXISTING 2" AND 8" DUAL PRESSURE REDUCING VALVE, VAULT, LS AND APPURTENANCES ON FM 3433 AND INSTALL IN PLACE (SEE DETAIL ON	1	\$16,452.00	\$16,452.00	\$12,709.00	\$12,709.00	\$35,240.00	\$35,240.00	\$11,384.51	\$11,384.51
WATER PLAN)									
16. LOWER EXISTING CITY 8" WATERLINE AT GALLETA LF	800	\$69.00	\$55,200.00	\$75.00	\$60,000.00	\$68.00	\$54,400.00	\$131.42	\$105,136.00
17. TRENCH SAFETY LF	18520	\$0.10	\$1,852.00	\$1.00	\$18,520.00	\$0.10	\$1,852.00	\$0.19	\$3,518.80
18. PRESSURE TESTING AND CHLORINATION LF	18520	\$1.50	\$27,780.00	\$1.00	\$18,520.00	\$2.30	\$42,596.00	\$0.31	\$5,741.20
SUBTOTAL BASE BID SECTION A - PHASE 2 - WATER DISTRIBUTION SYSTEM:	10320	\$2.50 <u></u>	\$1,844,777.00	Ψ1.00 <u>-</u>	\$1,883,905.00	Ψ2.50 <u>—</u>	\$2,003,358.00	ψ0.51 <u> </u>	\$1,747,682.06
BASE BID SECTION B - PHASE 2 - FM 3433 EMERGENCY WATER INTERCONNECT									
1. 12" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES, LF	391	\$82.00	\$32,062.00	\$98.00	\$38,318.00	\$85.80	\$33,547.80	\$82.93	\$32,425.63
FITTINGS, PLUGS, BEDDING, ETC.)				·				•	. ,
INSTALLATION OF 12" PVC WATERLINE BY BORE (INCLUDES BORE PITS, STEEL ENCASEMENT PIPE, CARRIER PIPE, SPACERS, ETC) LF STEEL ENCASEMENT PIPE, CARRIER PIPE, SPACERS, ETC)	105	\$704.00	\$73,920.00	\$1,090.00	\$114,450.00	\$961.00	\$100,905.00	\$1,038.64	\$109,057.20
 12" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS, EA ETC.) 	4	\$4,065.00	\$16,260.00	\$5,313.00	\$21,252.00	\$4,358.00	\$17,432.00	\$4,178.54	\$16,714.16
4. 12"X12" TAPPING SLEEVE & VALVE EA	1	\$6,355.00	\$6,355.00	\$13,468.00	\$13,468.00	\$9,810.00	\$9,810.00	\$9,729.89	\$9,729.89
5. CONNECT TO EXISTING 12" WATERLINE VIA TAPPING SLEEVE & VALVE EA	1	\$4,682.00	\$4,682.00	\$2,478.00	\$2,478.00	\$1,732.00	\$1,732.00	\$1,109.08	\$1,109.08
REMOVE EXISTING 45 DEGREE BEND AND CONNECT TO EXISTING 12" EA WATERLINE EA	2	\$2,302.00	\$4,604.00	\$4,780.00	\$9,560.00	\$2,668.00	\$5,336.00	\$2,439.97	\$4,879.94
7. TRENCH SAFETY LF	391	\$0.10	\$39.10	\$1.00	\$391.00	\$0.10	\$39.10	\$0.19	\$74.29
8. PRESSURE TESTING AND CHLORINATION LF	391	\$1.50	\$586.50	\$3.00	\$1,173.00	\$2.30	\$899.30	\$0.31	\$121.21
9. TRAFFIC CONTROL MO	1	\$2,750.00	\$2,750.00	\$6,077.00	\$6,077.00	\$4,095.00	\$4,095.00	\$5,995.00	\$5,995.00
10. REMOVE EXISTING 12" WATERLINE	11	\$49.00	\$539.00	\$16.00	\$176.00	\$15.00	\$165.00	\$43.89	\$482.79
SUBTOTAL BASE BID SECTION B - PHASE 2 - FM 3433 EMERGENCY WATER INTERCONNECT	- "	Ç.3.00_	\$141,797.60	\$20.00 <u></u>	\$207,343.00	<u> </u>	\$173,961.20	Ç.5.65	\$180,589.19

BID TABULATION FOR:

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.
S.BOOTH
OCTOBER 29, 2025
NTD720-0083

				1) BLUE STAR UTILITIES, LLC		2) ACADIA SERVICES LLC		3) PCI CONSTRUCTION		4) VENUS CONSTRUCTION COMPANY	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID	SECTION C - PHASE 2 - RAW WATER LINES										
1.	2" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES,	LF	5240	\$16.00	\$83,840.00	\$21.00	\$110,040.00	\$29.20	\$153,008.00	\$25.56	\$133,934.40
	FITTINGS, PLUGS, BEDDING, ETC.)										
2.	4" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES,	LF	615	\$26.00	\$15,990.00	\$34.00	\$20,910.00	\$36.70	\$22,570.50	\$32.51	\$19,993.65
	FITTINGS, PLUGS, BEDDING, ETC.)										
3.	4" DUCTILE IRON WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES,	LF	20	\$76.00	\$1,520.00	\$82.00	\$1,640.00	\$82.40	\$1,648.00	\$78.67	\$1,573.40
	FITTINGS, PLUGS, BEDDING, ETC.)										
4.	2" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS,	EA	8	\$1,245.00	\$9,960.00	\$3,680.00	\$29,440.00	\$1,082.00	\$8,656.00	\$963.03	\$7,704.24
	ETC.)										
	4" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS,	EA	2	\$1,516.00	\$3,032.00	\$1,587.00	\$3,174.00	\$1,457.00	\$2,914.00	\$1,322.73	\$2,645.46
	ETC.)										
	4" CLOW VALVE COMPANY FLAP VALVE OR APPROVED EQUAL (INCLUDES	EA	1	\$1,333.00	\$1,333.00	\$1,308.00	\$1,308.00	\$1,392.00	\$1,392.00	\$1,076.94	\$1,076.94
	CONCRETE BLOCKING, EMBEDMENTS, ETC.)										
	PVC ENCASEMENT FOR 2" WATERLINE	LF	60	\$24.00	\$1,440.00	\$26.00	\$1,560.00	\$40.30	\$2,418.00	\$21.54	\$1,292.40
8.	STEEL ENCASEMENT PIPE FOR 2" WATERLINE	LF	40	\$38.00	\$1,520.00	\$49.00		\$54.90	\$2,196.00	\$52.78	\$2,111.20
9.	STEEL ENCASEMENT PIPE FOR 4" WATERLINE	LF	40	\$72.00	\$2,880.00	\$71.00	\$2,840.00	\$76.30	\$3,052.00	\$72.08	\$2,883.20
10.	CONNECT TO EXISTING RAW WATER WELL	EA	3	\$1,147.00	\$3,441.00	\$7,611.00	\$22,833.00	\$2,083.00	\$6,249.00	\$4,394.36	\$13,183.08
11.	TRENCH SAFETY	LF	5875	\$0.10	\$587.50	\$1.00	\$5,875.00	\$0.10	\$587.50	\$0.19	\$1,116.25
12.	PRESSURE TESTING AND CHLORINATION	LF	5875	\$1.50_	\$8,812.50	\$1.00	\$5,875.00	\$2.30	\$13,512.50	\$0.31	\$1,821.25
SUBTOTA	SUBTOTAL BASE BID SECTION C - PHASE 2 - RAW WATER LINES			\$134,356.00	7	\$207,455.00		\$218,203.50		\$189,335.47	

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.
S.BOOTH
OCTOBER 29, 2025
NTD720-0083

				1) BLUE STAR	UTILITIES, LLC	2) ACADIA S	SERVICES LLC	3) PCI CONST	TRUCTION	4) VENUS CONSTRU	ICTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SE	CTION D - PHASE 2 - SANITARY SEWER SYSTEM:						•				
	P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION,	LF	12588	\$55.00	\$692,340.00	\$54.00	\$679,752.00	\$67.30	\$847,172.40	\$60.92	\$766,860.96
	IBEDMENT, BACKFILL, ETC.) P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION,	LF	523	\$78.00	\$40,794.00	\$57.00	\$29,811.00	\$78.20	\$40,898.60	\$69.50	\$36,348.50
	IBEDMENT, BACKFILL, ETC.)	-	323	Ţ76.00	Ç40,754.00	Ç37.00	\$25,011.00	\$76.20	Ç40,030.00	Ç03.50	\$30,340.30
	P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION,	LF	2707	\$63.00	\$170,541.00	\$60.00	\$162,420.00	\$72.30	\$195,716.10	\$77.60	\$210,063.20
	IBEDMENT, BACKFILL, ETC.) P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION,	LF	371	\$77.00	\$28,567.00	\$78.00	\$28,938.00	\$85.10	\$31,572.10	\$95.57	\$35,456.47
	BEDMENT, BACKFILL, ETC.)	-	3,1	<i>ψ171.</i> 00	<i>\$20,507.00</i>	\$70.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Ç03.10	Ų31,37 L.10	\$35.57	Ç55, 156. 17
	P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION,	LF	45	\$110.00	\$4,950.00	\$103.00	\$4,635.00	\$113.80	\$5,121.00	\$113.34	\$5,100.30
	IBEDMENT, BACKFILL, ETC.) P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS,	EA	353	\$1,158.00	\$408,774.00	\$1,223.00	\$431,719.00	\$1,360.00	\$480,080.00	\$1,306.94	\$461,349.82
	CLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.)			. ,	,,			, ,	,,	,,,,,,,,	,
	SINGLE DOMESTIC WASTEWATER SERVICE	EA	1	\$1,166.00	\$1,166.00	\$1,183.00		\$1,306.00	\$1,306.00	\$1,306.94	\$1,306.94
	C ENCASEMENT PIPE FOR 8" PIPE	LF	460	\$95.00	\$43,700.00	\$75.00	\$34,500.00	\$105.10	\$48,346.00	\$90.37	\$41,570.20
	C ENCASEMENT PIPE FOR 10" PIPE	LF	100	\$118.00	\$11,800.00	\$96.00	\$9,600.00	\$119.20	\$11,920.00	\$117.94	\$11,794.00
	NCRETE ENCASEMENT FOR 8" PIPE- 2000 PSI	LF	140	\$91.00	\$12,740.00	\$90.00	\$12,600.00	\$112.00	\$15,680.00	\$114.03	\$15,964.20
	NCRETE ENCASEMENT FOR 10" PIPE- 2000 PSI	LF	20	\$91.00	\$1,820.00	\$96.00	\$1,920.00	\$484.00	\$9,680.00	\$148.14	\$2,962.80
	' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL,	EA	49	\$4,866.00	\$238,434.00	\$5,897.00	\$288,953.00	\$4,905.00	\$240,345.00	\$5,902.53	\$289,223.97
	IN PAN, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE										
	TTOM. ETC.)			4				4	4		
	' DIAMETER ECCENTRIC MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION,	EA	1	\$4,866.00	\$4,866.00	\$6,419.00	\$6,419.00	\$5,501.00	\$5,501.00	\$6,382.13	\$6,382.13
	CKFILL, RAIN PAN, MANHOLE FRAME, GASKETED COVER, MANHOLE				\mathbf{X}						
	SERTS. FALSE BOTTOM. ETC.) I' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL,	EA	4	\$9,291.00	\$37,164.00	\$10,677.00	\$42,708.00	\$9,031.00	\$36,124.00	\$9,873.79	\$39,495.16
	IN PAN, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE	LA	4	35,251.00	\$37,104.00	\$10,077.00	342,706.00	35,031.00	\$30,124.00	35,673.75	\$35,453.10
	TTOM. ETC.)										
	' DIAMETER MANHOLE W/ INTERNAL DROP (ALL DEPTHS, INCLUDES	EA	2	\$10,566.00	\$21,132.00	\$17,454.00	\$34,908.00	\$12,748.00	\$25,496.00	\$11,996.00	\$23,992.00
	CAVATION, BACKFILL, RAIN PAN, MANHOLE FRAME, GASKETED COVER,		_		7-1,-0-100	7=1,10	+- ·/	Ţ==,: ::::::	7-0,	Ţ-=,	7-0,00-00
	ANHOLE INSERTS. FALSE BOTTOM. ETC.)										
	' DIAMETER MANHOLE W/ INTERNAL DROP AND BOLTED & GASKETED	EA	1_	\$11,652.00	\$11,652.00	\$19,451.00	\$19,451.00	\$14,438.00	\$14,438.00	\$14,004.32	\$14,004.32
CO	VER (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, RAIN PAN,										
MA	ANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM,										
FT											
	DIAMETER MANHOLE OVER EXISTING LINE (ALL DEPTHS, INCLUDES	EA	1	\$6,582.00	\$6,582.00	\$12,021.00	\$12,021.00	\$7,186.00	\$7,186.00	\$8,087.26	\$8,087.26
EXC	CAVATION, BACKFILL, RAIN PAN, MANHOLE FRAME, GASKETED COVER,										
	ANHOLE INSERTS. FALSE BOTTOM. ETC.)					44	44		4	4-4 44	
	PASS PUMPING	MO	1	\$5,500.00	\$5,500.00	\$3,151.00	\$3,151.00	\$58,500.00	\$58,500.00	\$72,419.60	\$72,419.60
	MOVE PLUG AND CONNECT TO EXISTING 8" SEWER LINE	EA	1	\$1,070.00	\$1,070.00	\$2,571.00	\$2,571.00	\$2,480.00	\$2,480.00	\$899.25	\$899.25
	MOVE PLUG AND CONNECT TO EXISTING 12" SEWER LINE	EA	1	\$1,538.00	\$1,538.00	\$7,887.00	\$7,887.00	\$2,831.00	\$2,831.00	\$1,498.78	\$1,498.78
21. FIL	L ABANDONED EXISTING 8" SEWER LINE WITH GROUT, PLUG MANHOLE.	LF	90	\$70.00	\$6,300.00	\$20.00	\$1,800.00	\$23.00	\$2,070.00	\$77.96	\$7,016.40
22 AD	JUST EXISTING 4' DIAMETER MANHOLE BY +0.3'	EA	1	\$1,516.00	\$1,516.00	\$2,327.00	\$2,327.00	\$901.00	\$901.00	\$3,051.46	\$3.051.46
	JUST EXISTING 4' DIAMETER MANHOLE BY +2.5'	EA	1	\$1,516.00	\$1,516.00	\$2,390.00	\$2,390.00	\$1,205.00	\$1,205.00	\$3,888.21	\$3,888.21
	JUST EXISTING 4' DIAMETER MANHOLE BY +3.1'	EA	2	\$1,516.00	\$3,032.00	\$2,450.00	\$4,900.00	\$1,357.00	\$2,714.00	\$4,128.01	\$8,256.02
	JUST EXISTING 4' DIAMETER MANHOLE BY +3.1	EA EA	1	\$1,516.00	\$1,516.00	\$2,480.00	\$2,480.00	\$1,357.00 \$1,357.00	\$2,714.00	\$4,128.01	\$4,169.97
	JUST EXISTING 4' DIAMETER MANHOLE BY +3.2'	EA	2	\$1,516.00	\$3,032.00	\$2,500.00	\$5,000.00	\$1,357.00 \$1,357.00	\$2,714.00	\$4,247.91	\$8,495.82
	ENCH SAFETY	LF.	16234	\$1,516.00	\$1,623.40	\$2,500.00	\$16,234.00	\$1,357.00	\$9,740.40	\$4,247.91	\$5,032.54
	. TESTING	LF	16234	\$2.50	\$1,623.40	\$1.00	\$16,234.00	\$3.50	\$9,740.40 \$56.819.00	\$3.91	\$63.474.94
	BASE BID SECTION D - PHASE 2 - SANITARY SEWER SYSTEM:	LF	10234	Ş2.5U	\$1,804,250.40	\$4.00 <u></u>	\$1,915,214.00	şs.50 <u> </u>	\$2,157,913.60	\$3.91 <u> </u>	\$2,148,165.22
JODIOTALE	ANDE DID SECTION D' FRIADE 2 - SANTIANTI SEVEN SISTEM.				71,004,230.40		71,313,217,00		72,137,313.00		72,170,103.22

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.
S.BOOTH
OCTOBER 29, 2025
NTD720-0083

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) BLUE STAR UTILITIES, LLC		2) ACADIA SERVICES LLC		3) PCI CONSTRUCTION		4) VENUS CONSTRUCTION COMPANY	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION E - PHASE 2 - STORM SEWER SYSTEM:										
 18" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS 		87	\$80.00	\$6,960.00	\$71.00	\$6,177.00	\$74.20	\$6,455.40	\$79.85	\$6,946.95
WYFS, BFNDS, FTC.1 2. 21" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		2850	\$81.00	\$230,850.00	\$73.00	\$208,050.00	\$79.10	\$225,435.00	\$84.66	\$241,281.00
WYES. BENDS. ETC.) 3. 24" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		2330	\$91.00	\$212,030.00	\$82.00	\$191,060,00	\$87.60	\$204,108.00	\$94.47	\$220,115.10
WYFS. BFNDS. FTC.1 4. 27" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		1313	\$106.00	\$139,178.00	\$99.00	\$129,987.00	\$102.60	\$134,713.80	\$110.09	\$144,548.17
WYES. BENDS. ETC.) 5. 30" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		624	\$122.00	\$76,128.00	\$107.00	\$66,768.00	\$111.20	\$69,388.80	\$116.66	\$72,795.84
WYES. BENDS. ETC.) 6. 36" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		1163	\$148.00	\$172,124.00	\$140.00	\$162,820.00	\$156.50	\$182,009.50	\$144.08	\$167,565.04
WYES. BENDS. ETC.) 7. 42" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		92	\$188.00	\$17,296.00	\$185.00	\$17,020.00	\$198.30	\$18,243.60	\$184.71	\$16,993.32
WYES. BENDS. ETC.) 8. 48" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		1471	\$216.00	\$317,736.00	\$223.00	\$328,033.00	\$236.00	\$347,156.00	\$214.50	\$315,529.50
WYES. BENDS. ETC.) 9. 54" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDE: EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS		50	\$254.00	\$12,700.00	\$281.00	\$14,050.00	\$311.20	\$15,560.00	\$264.17	\$13,208.50
WYES. BENDS. ETC.) 10. 4 - 7'X5' M.C.B. (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS, WYES, BENDS, ETC.)	LF	55	\$2,206.00	\$121,330.00	\$2,850.00	\$156,750.00	\$2,332.50	\$128,287.50	\$2,595.77	\$142,767.35
11. 10' STANDARD CURB INLET	EA	46	\$6,382.00	\$293,572.00	\$6,245.00	\$287,270.00	\$7,500.00	\$345,000.00	\$7,403.83	\$340,576.18
12. 15' STANDARD CURB INLET	EA	4	\$8,540.00	\$34,160.00	\$9,580.00		\$10,940.00	\$43,760.00	\$9,286.26	\$37,145.04
13. 3' X 3' DROP INLET WITH CONCRETE APRON	EA	1	\$3,316.00	\$3,316.00	\$6,334.00		\$7,324.00	\$7,324.00	\$5,467.44	\$5,467.44
14. 3' X 3' DROP INLET	EA	4		\$13,064.00	\$6,334.00		\$6,330.00	\$25,320.00	\$3,387.18	\$13,548.72
15. 4' X 4' DROP INLET	EA	11	\$4,744.00	\$52,184.00	\$7,172.00	\$78,892.00	\$6,540.00	\$71,940.00	\$3,872.77	\$42,600.47
16. INLET PROTECTION	EA EA	66	\$200.00	\$13,200.00	\$231.00		\$328.00	\$21,648.00	\$376.06	\$24,819.96
17. 4' SQUARE MANHOLE	EA	3	\$4,191.00 \$5,944.00	\$20,955.00 \$29,720.00	\$7,172.00 \$6,743.00		\$5,967.00 \$8,155.00	\$29,835.00	\$5,923.06 \$7,403.83	\$29,615.30
18. 5' SQUARE MANHOLE 19. 6' SQUARE MANHOLE	EA	2	\$8,428.00	\$16,856.00	\$8,773.00	\$33,715.00 \$17,546.00	\$10,472.00	\$40,775.00 \$20,944.00	\$11,660.28	\$37,019.15 \$23,320.56
20. 18" SLOPED END HEADWALL (4:1)	EA	2	\$2,416.00	\$4,832.00	\$2,068.00		\$3,937.00	\$7,874.00	\$2,505.91	\$5,011.82
21. 21" SLOPED END HEADWALL (4:1)	FA	1	\$2,596.00	\$2,596.00	\$2,780.00		\$4,282.00	\$4,282.00	\$3,872.77	\$3,872.77
22. 24" SLOPED END HEADWALL (4:1)	FA	3	\$2,684.00	\$8,052.00	\$3,103.00		\$4,633.00	\$13,899.00	\$3,027.48	\$9,082.44
23. 24" SLOPED END HEADWALL (6:1)	EΑ	1	\$2,884.00	\$2,884.00	\$3,356.00		\$5,838.00	\$5,838.00	\$3,926.73	\$3,926.73
24. 27" SLOPED END HEADWALL (4:1)	EA	1	\$3,395.00	\$3,395.00	\$3,749.00	\$3,749.00	\$5,002.00	\$5,002.00	\$3,267.28	\$3,267.28
25. 30" SLOPED END HEADWALL (4:1)	ĒΑ	2	\$3,395.00	\$6,790.00	\$4,333.00		\$6,125.00	\$12,250.00	\$3,537.05	\$7,074.10
26. 36" SLOPED END HEADWALL (4:1)	EA	2	\$4,321.00	\$8,642.00	\$4,968.00		\$6,921.00	\$13,842.00	\$4,106.58	\$8,213.16
27. 42" SLOPED END HEADWALL (4:1)	EA	1	\$5,026.00	\$5,026.00	\$6,201.00	\$6,201.00	\$7,769.00	\$7,769.00	\$4,670.11	\$4,670.11
28. 48" SLOPED END HEADWALL (4:1)	EA	1	\$5,526.00	\$5,526.00	\$6,917.00	\$6,917.00	\$9,413.00	\$9,413.00	\$5,245.63	\$5,245.63
29. 54" SLOPED END HEADWALL (4:1)	EA	1	\$6,532.00	\$6,532.00	\$7,532.00	\$7,532.00	\$10,355.00	\$10,355.00	\$5,869.11	\$5,869.11
30. 4:1 FW-0 WINGWALL WITH 5' EXTENDED CURB	EA	2	\$70,626.00	\$141,252.00	\$52,368.00		\$71,750.00	\$143,500.00	\$354,364.45	\$708,728.90
31. NCTCOG 803.3 TYPE A, 8" GROUTED ROCK RIP RAP	SY	335	\$156.00	\$52,260.00	\$180.00		\$156.00	\$52,260.00	\$156.92	\$52,568.20
32. NCTCOG 803.3 TYPE A, 12" GROUTED ROCK RIP RAP	SY	76	\$156.00	\$11,856.00	\$186.00		\$202.00	\$15,352.00	\$208.05	\$15,811.80
33. NCTCOG 803.3 TYPE A, 27" GROUTED ROCK RIP RAP	SY	152	\$171.00	\$25,992.00	\$196.00	\$29,792.00	\$314.00	\$47,728.00	\$321.58	\$48,880.16
34. 4' CONCRETE FLUME IN DETENTION POND	SY	61	\$170.00	\$10,370.00	\$142.00		\$263.00	\$16,043.00	\$149.88	\$9,142.68
35. 6" CURBED CONCRETE FLUME	SY	109	\$170.00	\$18,530.00	\$142.00		\$291.00	\$31,719.00	\$179.85	\$19,603.65
36. 10' POND EMERGENCY SPILLWAY WITH ARMORMAX 75 LINING	SY	134	\$55.00	\$7,370.00	\$55.00		\$112.00	\$15,008.00	\$75.71	\$10,145.14
37. TRENCH SAFETY SUBTOTAL BASE BID SECTION E - PHASE 2 - STORM SEWER SYSTEM:	LF	10030	\$0.10_	\$1,003.00 \$2,106,267.00	\$1.00	\$10,030.00 \$2,132,320.00	\$0.20 <u> </u>	\$2,006.00 \$2,352,043.60	\$0.31_	\$3,109,30 \$2,820,086.57 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION PHASE 2

NTD720-0083

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.
S.BOOTH
OCTOBER 29, 2025

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				BLUE STAR UTILITIES, LLC 2) ACADIA SERVICES LLC		3) PCI CONSTRUCTION		4) VENUS CONSTRUCTION COMPANY			
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1. 2 EX	ECTION G - PHASE 2 - TXDOT - STORM SEWER SYSTEM: "I" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDES CCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS,	LF	338	\$116.00	\$39,208.00	\$102.00	\$34,476.00	\$94.00	\$31,772.00	\$112.26	\$37,943.88
	/YES. BENDS. ETC.) KDOT PSET-SP 6:1 WITH 1' TOEWALL	EA	2	\$3,321.00	\$6,642.00	\$5,361.00	\$10,722.00	\$6,289.00	\$12,578.00	\$4,616.15	\$9,232.30
3. T	(DOT GROUTED STONE RIP RAP (D50=12")	SY	41	\$161.00	\$6,601.00	\$180.00	\$7,380.00	\$185.00	\$7,585.00	\$163.09	\$6,686.69
4. TI	RENCH SAFETY	LF	338	\$0.10	\$33.80	\$1.00	\$338.00	\$0.20	\$67.60	\$0.31	\$104.78
	EDESTRIAN HANDRAIL AT CULVERT CROSSING (PR-11) BASE BID SECTION G - PHASE 2 - TXDOT - STORM SEWER SYSTEM:	LF	102	\$220.00_	\$22,440.00 \$74,924.80	\$161.00_	\$16,422.00 \$69,338.00	\$267.00	\$27,234.00 \$79,236.60	\$351.55_	\$35,858.10 \$89,825.75
BASE BID S	ECTION H - MISCELLANEOUS ITEMS:										
1. P	ERFORMANCE AND PAYMENT BOND	LS	1	\$80,127.20	\$80,127.20	\$81,000.00	\$81,000.00	\$72,810.00	\$72,810.00	\$85,045.07	\$85,045.07
2. N	IAINTENANCE BOND - 2 YR, 100%	LS	1	\$63,500.00	\$63,500.00	\$1.00_	\$1.00	\$82,700.00	\$82,700.00	\$17,420.67_	\$17,420.67
SUBTOTAL	BASE BID SECTION H - MISCELLANEOUS ITEMS:				\$143,627.20		\$81,001.00		\$155,510.00		\$102,465.74
1. EX	E I PH 2 EXCAVATION ITEM: (PORT AND STOCKPILE UTILITY SPOILS	CY	12000	\$6.00_	\$72,000.00	\$8.00_	\$96,000.00	\$15.00 <u> </u>	\$180,000.00	\$9.99_	\$119,880.00
SUBTOTAL	ALTERNATE I PH 2 EXCAVATION ITEM:				\$72,000.00		\$96,000.00		\$180,000.00		\$119,880.00
BID SUMM	ARY										
BASE BID S	ECTION A - PHASE 2 - WATER DISTRIBUTION SYSTEM:				\$1,844,777.00		\$1,883,905.00		\$2,003,358.00		\$1,747,682.06
BASE BID S	ECTION B - PHASE 2 - FM 3433 EMERGENCY WATER INTERCONNECT				\$141,797.60		\$207,343.00		\$173,961.20		\$180,589.19
BASE BID S	ECTION C - PHASE 2 - RAW WATER LINES			1	\$134,356.00		\$207,455.00		\$218,203.50		\$189,335.47
BASE BID S	ECTION D - PHASE 2 - SANITARY SEWER SYSTEM:				\$1,804,250.40		\$1,915,214.00		\$2,157,913.60		\$2,148,165.22
BASE BID S	ECTION E - PHASE 2 - STORM SEWER SYSTEM:				\$2,106,267.00		\$2,132,320.00		\$2,352,043.60		\$2,820,086.57
BASE BID S	ECTION G - PHASE 2 - TXDOT - STORM SEWER SYSTEM:				\$74,924.80		\$69,338.00		\$79,236.60		\$89,825.75
BASE BID S	ECTION H - MISCELLANEOUS ITEMS:		7	-	\$143,627.20		\$81,001.00		\$155,510.00		\$102,465.74
TOTAL AM	OUNT BASE BID	<			\$6,250,000.00		\$6,496,576.00		\$7,140,226.50		\$7,278,150.00
ALTERNAT	е ітем:										
ALTERNATI	I PH 2 EXCAVATION ITEM:				\$72,000.00		\$96,000.00		\$180,000.00		\$119,880.00